
Osnovi elektronike SI 
Rešenja zadataka – februar 2009. 
 
 
 
2. zadatak 
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4. zadatak 
 

( )310 jU +=  V °⋅= 57,7110 je  V; 

( ) ( )°+= 57,71314cos520 ttu  V = ( )°+ 57,71314cos472,4 t  V; 

( )5,310 jI +−=  A °⋅= 95,10525,13 je  A; 

( ) ( )°+= 95,105314cos5,260 tti  A = ( )°+ 95,105314cos148,5 t  A; 
 
 
6. zadatak 

2

31
0 R

RRIvI ⋅−=  

 
 
8. zadatak 
 
a) µA;   mA;   684,9=BI 9684,0=CI 978,0=EI mA;   10=CV V;   184,5=EV V;   V; 884,5=BV

b) 995,011
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( )( ) 74,111|||| 021 ≈++= Eul RrRRR βπ kΩ; 

19,26
1

||
0

≈
+

=
β

πrRR Eizl Ω. 

 


